ER-IERRREE-RR

465 A 2BARE
SEXEE FMIWERRE

T I T X TS
#Oh —RAHEHE s
mRIA EEELH-E | H i
*7 GRKE) |REmEEHEE [14
(EMKE) |LtEREEHREE 123
EmERHEE [BRIRE=112
— HoEsE B R)IiRig=(6, 10.6)
EEANBKTR |_
IZkDE%E
2] - . fEE 20m/s
A FHNE fi: 25m/s
= T4 1 RE L 20m/s EFEHES
FRE FERE B 25m/s EEMES
AE BEEDRS 1285 E DFES10cm
KR HEES 2.5m
= 80 B4 3.2m
X7 FEMmEEHEE (8
TIEMSEHELE (97
mEmEEHEE [BERIRE=89
— HoEsE B R)IiRiEg=(5, 86)
EEANBKTR |_
IZkDE%E
W . fEE 12m/s
SR A T RE B 15m7/s
= T , fEE 12m/s BFH#ES
A= FHRE B T5m/s BEHES
AE BEEDRS 1285 EEE D iFES5cm
KR e 1.5m
EER =i AL 2.4m
ES EEZICIYBELNTEINDEE
BE
- gm o R 100m
=& 1Rig B 500m
BrIR =/NEE 35% TEMEE 60%
- QBEENRE 50cmLl L HYBBRE 12CULERIEN Y DR ™2
! BESE -3CUTF*®
B BEHICRIESE 2°CUT
Bk
. 24B5 R E MRS Tt 10ecmilE, i 30cmbil E
- Sig:-1°C~3°C
R R LA B Iy [90mm
REWNBEY RETEER O ShEICLSEEEERLTVET.
Y SREEILARRE . EILER SRS BRFROME,
P KRERELERREDHE,



